
  
            , ,    
  ,               

  -    ,      ,       
                    
    ( ),   ( ),       ( ),   (
),        ( ),     ( ),   ( ),  
 ( ),    

1. Select the correct meaning of the idiom

underlined below:

The singer was not in voice

(a) lost voice (b) to sing well 

(c) had a cough (d) sang well

2. Fill in blank with the correct word.

The stream was ......... by the waterfall.

(a) fed (b) fed up 

(c) filled (d) fulled 

3. 'Book' may be used with

(a) Trousers (b) Insects 

(c) Ticket (d) Painting 

4. Choose the word opposite in meaning to

the word underlined below

The silence of the children was sinister.

(a) catnap (b) cacophony 

(c) coarse (d) cruelty

5. 'Hand and glove' means

(a) Arrogance 

(b) Enemy 

(c) Maintain a distance 

(d) Intimate terms

Directions (Q 6-8): Fill in the blank with the

correct alternative from the ones supplied.

6. A man in the charge of farming and

nurturing animals is called.......

(a) A ploughman 

(b) A farmer

(c) Afirm-manager  

(d) A husbands man

7. Lachrymose nature means.........

(a) Lethargic  (b) Prone to anger 

(c) Prone to tear   (d) Energetic

8. The man who follows his nose actually

follows his.....

(a) Passion (b) Rationality 

(c) Instinct (d) Memory 

9. 'Tortuous' means

(a) Torture 

(b) Turn 

(c) Full of twist and turns 

(d) Aural

10. A manicurist takes care of

(a) Foot (b) Ear 

(c) Nails (d) Mind

11.    ...........
(a)  (b)  
(c)  (d) 

12.    , ‘   
  ’     ?

(a)  (b)  
(c)  (d) 

13.       
‘  ’?

(a)   (b)   
(c)   (d)   

14.         ?
(a)  (b)  
(c)   (d)  

15.    ‘   ’
 ?

(a)  (b)  
(c)  (d) 

16.       
?

(a)   (b)   
(c)   (d)  

17.     ?
(a)  (b)  
(c)  (d) 

18. ‘  ’    ?
(a)  (b)  
(c)  (d) 



19. ‘   ’  ?
(a)    (b)    
(c)    (d)  

20.      2 : 3,  
  5 : 8,     400  
 ,     —

(a) 1200 , 1800 ,
(b) 2400 , 3600 ,
(c) 2000 , 3000 , 
(d) 1600 , 2400 

ANSWERS

1. (b) 2. (a) 3. (c) 4. (b) 5. (d) 6. (b) 7. (c) 8. (c)

9. (c) 10. (c) 11. (b) 12. (c) :  
      ,  
  13. (a) 14. (b) 15. (a) 16. (c) 17. (c)

18. (c) 19. (a) 20. (b) :    

   2400   3600     
   2 : 3 ,    400

         (2400 –

400) = 2000  (3600 – 400) = 3200  
2000 : 3200 = 5 : 8      2400

  3600  


